Maths Homework Y5 Mr Masingiri
Date set: 24/11/20
Date due: 30/11/20

You need to complete both sections

Section 1 -

1. 10,700 - 6,739 =

3. 37,565 - = 15,834

4. Double 13,750
B. bx 8= x 4

6. For England's 1000t match, the
temperature outside Wembley Stadium is
measured at -6°C. Inside the stadium, it is
13 degrees warmer. What is the
temperature in the stadium?

Section 2 -

1. Write the next 3 numbers in this sequence:

134 84 34

3. 80,000 + two thousand + 36 tens

4. 4906 x10 =

5. 9x567 =




